Example 9.13      Transformer
[image: image1.png]The parameters of a certain linear transformer are Ry =200 Q. R, =
100 @, Ly =9 H, Ly =4 H, and k = 0.5. The transformer couples
an impedance consisting of an 800 2 resistor in series with a 1 ;F
capacitor to a sinusoidal voltage source. The 300 V (rms) source has
an internal impedance of 500 + j100 € and a frequency of 400 rad/s.

a

Construct a frequency-domain equivalent circuit of the system.
b) Calculate the self-impedance of the primary circuit.

C

Calculate the self-impedance of the secondary circuit.
d) Calculate the impedance reflected into the primary winding.
e) Calculate the scaling factor for the reflected impedance.

f) Calculate the impedance seen looking into the primary terminals
of the transformer.

g) Calculate the Thévenin equivalent with respect to the terminals
c.d.




